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Topic:- Child Development & Pedagogy (CDP)

1) Today’s classrooms now welcome learners. / 3T Bt Tﬁ&ﬁ&ﬁ 3 ﬁ[&nﬁfﬁﬁ Wﬁ?ﬂ%l

1. Talented / GfTRIT

2. Diverse / fafaer

3. Gifted / gfamerel

4. Special need / TITIT TR G

Correct Answer :-

« Diverse / [afay

2) Short term deficit of sleep affects learners by: / sfig $Y 3reuTafer At fRranfial Fr ysnfaa FA E :

1. increase in weight/ 3o & 3f&

2. increasing the risk of diabetes/ ZFT‘?:PTQT Pl YT Tl

3. weakening immunity/ HHASIR FIRETT

4. reducing concentration and memory/ TTaIaT 3R E{ﬁ PI P BT

Correct Answer :-

« reducing concentration and memory/ TTIIaT 3R E{ﬁ P HH BT

3) Inequality in education has been reduced in India due to: / ¥Rl H e & g ﬁ'ﬂ?’ # A FF T FRUT HH &Y LIES %’:
1. Religious intervention/ arfds '&“Wﬁq

2. Social Reforms/ HHATST UR

3. Constitutional provisions/ TJUTfA® graerer

4. Cultural diversity/ TI¥picen fafaaar

Correct Answer :-

« Constitutional provisions/ FauTfas graurA

4) NIOS is an example of agency of education. /rcrairéaﬁw, fRram Y oY EFIWWUT%I
1. non formal / 3R-3iaaTRe

2. formal / 3qaTR®

3.NGO / Tsftef

4. informal / 3TN

Correct Answer :-

« non formal / IT-3ru=nRe

5) What are the family and community resources that children can draw upon collectively called? / ¥ grRER® 3 MK@TF HHTET F4T %;,
e ) 7= aegfe s w7 @ I g wwa B2



1. Membership capital / HGEIAT ‘ILT:ﬁ
2. Structural capital / EXTATCHD Yol
3. Fiscal capital / ITSTepIdIT i
4. Social capital / HTHATISID Yoir

Correct Answer :-

« Social capital / AT Yair

6) What are the ways to engage students in problem-solving strategies & extend their thinking? / SHEIT HY WTFT Y oAl &F ol Y
HorasT H¥et 3 I BT Y AT ToT F aOF FATE?

1. Use of concept formation, inquiry & synectics / ITHURUI IS, SATS 3R TITEIT3T H 3UHT
2. Addressing questions again & again/ TR-AR T4 T TS FAT

3. Talking to friends nicely/ GRecl & 3T T AT AT

4. Giving them extra homework / 3= 31T HETAX B AT

Correct Answer :-

» Use of concept formation, inquiry & synectics / IR IS, TSATS 3R T3 & 3T

7) What type of reasoning is characterized by moving from the general to the particular? / §THT & fafdrse fr anx T §'Q' T IR F T
EIRCRA GIEGIESIGIEN

1. Transductive reasoning / QRITHT GED @'mg?f'ﬁ?‘f =)

2. Inductive reasoning / 3TITHATCHD GED (3'1?5:?‘!-2?‘[ ﬁaﬁm

3. Deductive reasoning / IGRIGI:Cs Y (%'5% fls_rlﬁ'ﬂ)

4. Hypothetical reasoning / WTeFheUATcaIh o (FsWATeder tfam)

Correct Answer :-

« Deductive reasoning / [T a& (Rsfaea f=fam)

8) What is the part of memory that stores information that one is not consciously aware of? / FF[% FT g Pl TT AT §, ST 3 =T HIET
LT § ForeTeh) T8 T & ATHRY 76T W@ell 82

1. Dual memory / Eﬂ%’fl’ F{ﬁf

2. Explicit memory / TTE F{%

3. Implicit memory / 3afafea FJ‘[%
4. Conscious memory / &3 A

Correct Answer :-

« Implicit memory / afafd Wfﬁ

9) What is the phenomenon wherein previous exposure to a word or concept makes later recollection easier? / dg €T T & g fondY ereg
IT HEURON & G F TIF 7 3T & qTE FT FAIVT AT ) ST 82

1. Priming / W13 f3HaT

2. Deriving / ag?ﬂﬁf

3. Subliminal perception / A UcT&TIHIOT
4. Subconscious memory / 3dAd THA



Correct Answer :-

« Priming / OIS

10) Children are asked to narrate a story during the administration of which test? / g qdiaTr & aTad F SR sl wY Hgre {Ijﬂﬁ' & fow
T AT 8?7

1. Children’s Apperception Test (CAT) / STel-3Teaates TieToT (Hrud)

2. Minnesota Multiphasic Personality Inventory (MMPI) / fHaGYeT Fedthioieh TIeToiel Sdell (THTAUISS)
3. Wechsler’s Intelligence Scale for Children (WISC) / da¥eR scforeie Thd B Riega (QW{W )
4. Thematic Apperception Test (TAT) / fTIuT-3Tcade=T graToT (E1Uer)

Correct Answer :-

« Children’s Apperception Test (CAT) / ITel-37eca el G{eTor ()

11) Learner autonomy is a characteristic of: / RreTeff Farrear frer r fadhwar g2

1. Formal education / 3o fvem

2. Traditional education / TRUTe T8I

3. Progressive education / JaTfcrefrer frem

4. Inclusive education / TATART fRr&T

Correct Answer :-

« Progressive education / JaTfareirer fr&mm

12) Raven’s Progressive Matrices Test measures: / 38T &1 WfAa #Afew &re Amqar g:

1. Intelligence / g@'
2. Personality / SITthcd

3. Attitude / FAIRT

4. Motivation / 9RO

Correct Answer :-

« Intelligence / gﬁ;’

13) According to Piaget, children’s development is progressing through 4 stages. / s & AR, S=4 Y T R 4
T F ATETH § Y9Tfd FT @RI

1. Physical/ #ife®

2. Emotional / ATIATIHD
3. Functional / ST
4. Cognitive/ TMTH®

Correct Answer :-

- Cognitive/ IJMTHD

14) Many people who were alive at that time remember exactly where they were and what they were doing when they heard that Rajiv Gandhi
was assassinated. What type of memory is displayed here? / FE AN ST AAT AT L T2 o o o arielt Y gear T &Y TS A SRaT S,
3R AFAIEE F IFE FIRT TR @ A | T81 forw g Ar i e € @2



1. Flashbulb memory / t@aﬁ w7
2. Declarative memory / HIYUTIcHAD 1?{%

3. Sensory memory / FAGT H’[ﬁf
4. Semantic memory / 39T T

Correct Answer :-

« Flashbulb memory / Q@&If& T

15) Learners are not included under “Exceptional Category”. / RraniRiaY #Y " 3rvareTcA® Ao & rqera enfAe gt fear
]|

1. Normal / ETUROT (FTaTeT)

2. Retarded / Fig (ReTés)

3. Gifted / gfqHTRITE (FTFeE)
4. Slow / 1 (¥

Correct Answer :-

« Normal / TIROT (ATaTe)

16) If a learner has difficulty in reading, then what type of learning disability? / i v Rameff & Lroy ) FHISATS gielt ?‘, 38 R TR A
AT JraTAET B?

1. Dysgraphia / f&aanfteg
2. None of these / é?-lﬁ T Eﬁ%’ c‘-!??f
3. Dyslexia / fEFeifdraar

4, Dyscalculia / %ﬁﬁlﬂ-‘gﬁfﬂ

Correct Answer :-

« Dyslexia / FSEaifdraar

17) An infant takes time to distinguish the father from other men. This aspect of development happens because of the following principle. / T

fRrey 1 Ryar 1t 3 Tout § e F F GH7 oforen ¢ R 1 7% TRewIor et Riguia & FRoT @Y 2
1. Whole to Part/qui'ﬂﬁ'?l'

2. Centre to Periphery / thg ¥ TRTS

3. Part to Whole / 31"2r®q37‘r

4. General to Specific / TTHTT ¥ fafre

Correct Answer :-

« General to Specific / TTAT & fafre

18) The famous physiologist whose work on classical conditioning influenced the field of child psychology is: / ‘Jlﬁ&'}l’ R-forar et
(Rrfraaifaree) et A seqaee (FaTiad Farerfaen o R rar #14 are AafaarT & 89 wnfa #are, 78

1. Edward Thorndike / USdS ATTSTSH
2. Wolfgang Kohler / @rethdlaT Pligerk
3. Jean Piaget / STt TOaTSt

4, Tvan Pavlov / T Utdelia



Correct Answer :-
« Ivan Pavlov / $dTd NICEIC

19) The proverb “Nothing succeeds like success” is applicable to which of the following laws of learning? / FgTad “Td AHeldl & g ol
aerar fArered ¥1” 3rfrerar & v forrer o Ay gar &2

1. Law of exercise /37938 & I
2. Law of readiness / TAUAT & fga
3. Law of effect / THTG & ozt

4. Law of success /AHherdT & ferzeT

Correct Answer :-

« Law of effect / UHTd & faga

20) The characteristic of behavioral objective is: / STT@TRS 3@?21' A RAAvar:
1. None of above / SCI'!i—rFﬁﬁ aﬁéa%’r

2. Observable and measurable / 3Tl 3R TRFT

3. Observable and Immeasurable / 3Tdeileraid 3R 3AFT

4. Non-observable / IR-31aelidhag

Correct Answer :-

« Observable and measurable / 3Tl 3R TRFT

21) Which of the following is a Humanistic view of motivation? / RFafaf@a & & 9o &1 ATFaTETE) efSehior Fm §?
1. Need for self-esteem and self fulfilment / 3TTcHTEFATA T HTARIDHAT HR 3T F[fg

2. Beliefs, attributions for success and failure / ¥R, el &l AT 3R 3 gHerar

3. Goals, expectations and self-efficacy / TI&Z, 3FHIG 3R T YHTGRIRAT

4. Incentives, reinforcers and punishers / T, ﬁ?ﬂ_ﬂh_d‘f 3R gus & aren

Correct Answer :-

« Need for self-esteem and self fulfilment / HTcATFHTA &1 HTGTRAT HR 3T A

22) How many primary stages of development are present in Kohlberg’s theory on moral development? / AfF R W Rt F ﬁa}m—r #
R & fraa wrafas == Alsg 82

1.3
2.4
3.2

4.6

Correct Answer :-

23) advocated that all children have the potential to learn. / & A frar & B @l et & dea A amar @ B
1. John Dewey / ic sﬁ

2. Freud / WIIS



3. Friedrich Frobel / W& Whiaer
4. Maria Montessori / FTRIAT Hice Tl

Correct Answer :-

« Friedrich Frobel / %afa whiee

24) are creative skill practice books for children for the enrichment of their creative thinking. / T B TWATHS G P
T & T AT I T F R @ g1

1. Enrichment books / €d]g W
2. Idea books / TR ‘B—_cla?

3. Integrated books / Tehigpd W

4. Creative books / TdTcHDp g?-_cl?}?

Correct Answer :-

« Idea books / faaR g?-_d?)?

25) The key agent in Erikson’s Psychosocial stage of “Industry versus inferiority” is: / “UR%W S99 §Har” & TR & AAHING IR0 &
T UCH & -

1. Family / URaR

2. Parents / ATAT-TOT

3. Primary caregiver / AR Helddh

4. Teachers and peers / fe7ep 3 "H’s'QT@f

Correct Answer :-

« Teachers and peers / {187 3R TEurdr

./ 753t aff areman a1 599 & oruma W $o W FA

26) The passion for doing anything in the absence of any compulsion or reward is

I B
1. Intrinsic motivation / fhard 31fHUROT

2. Extrinsic motivation / TTToTeh 3THUOT
3. Achievement motivation / SUcITe’T UUTT

4. Level of Aspiration / 3TTeRT&T T T

Correct Answer :-

« Intrinsic motivation / TIThaTe THUROT

27) Which of the following is NOT a form of misconception? / Frafafea & 9 w1 v Tea yron T g2
1. Vernacular misconceptions/ HTJHTST e Eﬂ?

2. Cognitive conflicted ideas / HeTeATeeh TREUR T e

3. Non-scientific beliefs/ 3Td=Tied AT=IATT

4. Preconceived notions/ GaTarel @R

Correct Answer :-

« Cognitive conflicted ideas / TATATCHD TREAR TRt faar



Who strives to answer such questions as well as to understand, explain and predict behaviors that occur throughout the

gfespan?/ ST WX EF 919 SI9ER &) JHSM, FHHM 3R Hiasqarft #3491 U $31 F J1Y-91Y W Jard & Srard S &l
?

1. Developmental psychologists/ TeTaTcaTd HAATd=ITIeIh

2. Vygotsky theorist/ dT$J &hr RrgiaeR
3. Fraud theorist/ S@Tes! IR
4. Erikson theorist/ TReE=T Agiaer

Correct Answer :-

« Developmental psychologists/ TeraTcH® AALAT AR

29) To motivate an auditory learner, the teacher should encourage him/her to A CLI Rrenfiat FY IRaT s & forg,
Rrere @1 3/ WeAfed BT 91T I

1. use reading material in small units / BIET SHISAT H TS AT T STJIT Y |

2. participate in club activities and skits etc / Ford & TFAfAfAAT 3R ATCd (Repe) 3nfe 3 smar o |

3. participate in discussions / Tl & TfEATAT &

4. use coloured pen and highlighters while studying / UETs: PR JHT i Hod iR Wﬁﬁ TN B |

Correct Answer :-

« participate in discussions / TdT & TEATord B

30) The effective learning as per Piaget’s theory is ./ T & Rigia & SER gyt siftnmy H
1. content acquisition / It Sha

2. root memorization / Fel ITq TGAT

3. active learning / Tfoha 31TATST

4, reading by heart / TSI ¥ T&aT

Correct Answer :-

« active learning / Tfeha 37TAeTH

Topic:- General English(L1GE)

1) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is a vehicle of opinion formation is no bone of
contention, what is to be argued upon, though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long overtaken factual reporting meant to make the
consuming public aware. TRP ratings are the deciding factor to what makes for good news and what doesn’t. A recent survey pointed out to the fact
that media propaganda and consistent patterns of reporting can and have heavily influenced the cornerstones of democracy, this is no novelty
though. Following what the mob says or believing the voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms large.

According to the passage, what is it that determines which event/incident is published in the media?
1. The urgency or veracity of the news item.

2. The number of people who can be impacted by the issue covered.

3. The money paid for the particular news item.

4. The television rating points value a news item is believed to hold.

Correct Answer :-

» The television rating points value a news item is believed to hold.



2) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is a vehicle of opinion formation is no bone of
contention, what is to be argued upon, though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long overtaken factual reporting meant to make the
consuming public aware. TRP ratings are the deciding factor to what makes for good news and what doesn’t. A recent survey pointed out to the fact
that media propaganda and consistent patterns of reporting can and have heavily influenced the cornerstones of democracy, this is no novelty
though. Following what the mob says or believing the voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms large.

What does the word cornerstone mean in the context of the above passage?
1. Stone
2. Pillar
3. Basis

4. Threat

Correct Answer :-
¢ Basis
3) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is a vehicle of opinion formation is no bone of
contention, what is to be argued upon, though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long overtaken factual reporting meant to make the
consuming public aware. TRP ratings are the deciding factor to what makes for good news and what doesn‘t. A recent survey pointed out to the fact
that media propaganda and consistent patterns of reporting can and have heavily influenced the cornerstones of democracy, this is no novelty
though. Following what the mob says or believing the voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms large.

What can you infer from the above passage?

1. That media has the ability to mould civic estimation
2. That media has made leaders behave differently

3. That media has ruined public life

4. That news is no longer a medium that is reliable

Correct Answer :-
» That media has the ability to mould civic estimation
4) Read the following passage and answer the question that follows:

What is seen and heard over popular media has a lasting impact on the general public. That media is a vehicle of opinion formation is no bone of
contention, what is to be argued upon, though, is whether the drivers of this vehicle have lived up to their responsibility to uphold a nation’s
sentiments and progress as the fourth estate or not. Sensationalism and popularity have long overtaken factual reporting meant to make the
consuming public aware. TRP ratings are the deciding factor to what makes for good news and what doesn’t. A recent survey pointed out to the fact
that media propaganda and consistent patterns of reporting can and have heavily influenced the cornerstones of democracy, this is no novelty
though. Following what the mob says or believing the voice that is the loudest has been happening since time immemorial but are these voices
contributing to the welfare of commoners or increasing their quality of life is a question that looms large.

Which of the following statements is true as per the passage?

1. Journalism in the recent past has been the torchbearer of truth.
2. Media has been the best vehicle of opinion formation.

3. Media has the power to influence the common public.

4. Media cannot mould public opinion.

Correct Answer :-



* Media has the power to influence the common public.

5) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees. Purified and bleached beeswax is used in the
production of food, cosmetics, and pharmaceuticals. Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of honeybees in a colony are queen, worker, and drone.
The queen’s function is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees are few in number and their
main function is to mate with the queen, after which they die. The worker bees perform a variety of jobs. They collect nectar and pollen to make
honey. They produce wax to make new honey combs. They guard the hive entrance and they feed the young ones.

What is the function of a queen bee?
1. To lay the eggs.

2. To go out and fetch honey.

3. To divide the work.

4. To monitor the work of other bees.

Correct Answer :-
« To lay the eggs.

6) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees. Purified and bleached beeswax is used in the
production of food, cosmetics, and pharmaceuticals. Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of honeybees in a colony are queen, worker, and drone.
The queen’s function is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees are few in number and their
main function is to mate with the queen, after which they die. The worker bees perform a variety of jobs. They collect nectar and pollen to make
honey. They produce wax to make new honey combs. They guard the hive entrance and they feed the young ones.

What is the function of worker bees?

1. Collect the nectar and pollen to make honey.
2. Assist the drone bee or male bee.

3. Assist the queen bee.

4. Lay the eggs.

Correct Answer :-
« Collect the nectar and pollen to make honey.

7) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees. Purified and bleached beeswax is used in the
production of food, cosmetics, and pharmaceuticals. Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of honeybees in a colony are queen, worker, and drone.
The queen’s function is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees are few in number and their
main function is to mate with the queen, after which they die. The worker bees perform a variety of jobs. They collect nectar and pollen to make
honey. They produce wax to make new honey combs. They guard the hive entrance and they feed the young ones.

According to the passage, how many eggs does a queen bee lay on an average?

1. 1000
2. 500

3.2000



4. 1500

Correct Answer :-
« 1500

8) Read the following passage and answer the question that follows:

Bees are the most useful of all insects. They live in a hive. We get honey and beeswax from bees. Purified and bleached beeswax is used in the
production of food, cosmetics, and pharmaceuticals. Honeybees are social insects that live together in highly organized colonies. Each member has a
specific job to do. A single honeybee cannot grow or survive by itself. The three distinct kinds of honeybees in a colony are queen, worker, and drone.
The queen’s function is to lay eggs. On an average she lays around 1500 eggs in one day. The drone or the male bees are few in number and their
main function is to mate with the queen, after which they die. The worker bees perform a variety of jobs. They collect nectar and pollen to make
honey. They produce wax to make new honey combs. They guard the hive entrance and they feed the young ones.

Where do the bees live?
1. In a kennel

2. In a nest

3. In a hive

4. In a tunnel

Correct Answer :-
o Inahive

9) Fill in the blank with the correct option in the given sentence:

The small grooves in long-playing records are called --grooves.

1. macro --

2. micro --

3. multi --

4. poly --

Correct Answer :-

e micro --

10) Fill in the blanks with the correct option in the given sentence:
The hall is attract-- decorated and the decorat-- have done a splendid job.
1. --ed ... -ion

2. --ive ... -ively

3. --ively ... --ors

4. --ion ... --or

Correct Answer :-
e —-ively ... --ors

11) Which of the following options best combines the given sentences?

Mr. Joseph is a writer. He writes in a powerful style.

1. Mr. Joseph, a writer, write in a powerful style.



2. Mr. Joseph, having powerful style of writing.

3. Mr. Joseph’s writing is a powerful style.

4. Mr. Joseph writes in a powerful style.

Correct Answer :-

e Mr. Joseph writes in a powerful style.

12) Choose appropriate articles for the given sentence:

Mime is ____ type of performance carried out without ____ use of props or language.
1. No article required... No article required

2. No article required ... an

3.a..the

4. the ... an

Correct Answer :-

13) Choose appropriate article for the given sentence:
MP (member of parliament) visited our school today.
1. No article
2.A
3. The

4. An

Correct Answer :-

14) Choose the appropriate determiner for the sentence given.

of the shops in our area are closed on Sundays.
1. Any
2. Most
3. Every

4. Much

Correct Answer :-

e Most

15) Choose the appropriate option that rewrites the given sentence in its passive voice.
The company pays a lot of taxes to legally bring goods into the country

1. A lot of taxes by the company are paid legally bring goods into the country

2. A lot of taxes are paid by the company to legally bring goods into the country.

3. The country is paid a lot of taxes by the company to legally bring goods.

4. Lot of taxes by the company is paid to legally bring goods into the country.

Correct Answer :-

« A lot of taxes are paid by the company to legally bring goods into the country.



16) Choose the appropriate option that rewrites the given sentence in indirect speech:

The doctor said to the patient, “You should quit smoking immediately.”
1. The doctor said to the patient you should quit smoking immediately.

2. The doctor said to the patient please quit smoking immediately.

3. The doctor asked the patient that to quit smoking immediately.

4. The doctor advised the patient to quit smoking immediately.

Correct Answer :-

« The doctor advised the patient to quit smoking immediately.

17) Choose the appropriate synonym for the highlighted word in the given sentence.
He refused to admit his mistake.

1. allow

2. argue

3. say

4. confess

Correct Answer :-

» confess

18) Choose the appropriate tenses to fill in the blanks in the given sentence :
He ____ shortofcash,sohe______ me a post-dated cheque.

1. has been, has been giving

2. will be, will give

3. is, had given

4. was, gave

Correct Answer :-

* was, gave

19) Choose the appropriate antonym for the highlighted word in the given sentence.

Chefs today create new dishes by putting together interesting foods.

1. Manipulate
2. Fuse
3. Destroy

4. Defuse

Correct Answer :-
* Destroy

20) Choose the appropriate conjunction for the given sentence.

She will not remember about her guitar class you remind her.

1. when



2. s0

3. unless

4. if

Correct Answer :-

e unless

21) Choose the appropriate prepositions for the given sentence:

The expert wrote authoritatively ____ the topic ____ exercise and its effects_____ mental health.
1. with ... on ... with

2. on ..about ... in

3. about ... of ... on

4. against ... of ... towards

Correct Answer :-
e about...of ...on

22) Choose an appropriate modal for the given sentence:

We achieve anything with our willingness.
1. can

2. might

3. Won't

4. would

Correct Answer :-

23) Choose the option that best explains the highlighted expression:
I am prepared to compromise, but Raja won't budge an inch.

1. allow my opinions

2. ignore my ideas

3. won't change his opinion

4. disagree with me

Correct Answer :-

« won’t change his opinion

24) Choose the option that substitutes the given phrase appropriately.

Forceful or fiery speeches
1. Combat

2. Whiplash

3. Debate

4. Haranguer

Correct Answer :-



e Haranguer

25) Choose the most suitable pronouns for the given sentence:
__ ratherpride_____on____ cooking.

1. He ... him ... your

2. It ...its ... your

3. 1. myself ... my

4.1 ... me ... their

Correct Answer :-
e |..myself..my

26) Read the sentence carefully and choose the option that has an error in it:

Priya loosed her pen when she was playing.
1. Priya loosed

2. when

3. she was playing.

4. her pen

Correct Answer :-

* Priya loosed

27) Choose the right tag:

You're watching a soap opera, ?
1. don’t you

2. isn’tit

3. are you

4. aren’t you

Correct Answer :-
e aren’tyou
28) Choose the appropriate tense to fill in the blank in the given sentence:

If he had gone to Agra, he the Taj Mahal.

1. have been seen
2. saw

3. had been seen

4. would have seen
Correct Answer :-

« would have seen

29) Choose the right tag:



Your friends can help you, ?
1. won't they

2. can they

3. can't they

4. don't they

Correct Answer :-

» can't they

30) Rewrite the following changing the active sentence to passive.

They jumped across the road when they saw the police van.

1. When the police van was seen by them they jumped across the road.
2. When see police van by them they jumped across the road.

3. When police van was been seen by them they jumped across the road.

4. When police van seen by them they jumped across the road.

Correct Answer :-

» When the police van was seen by them they jumped across the road.

Topic:- General Sanskrit(L2GS)

1)



U=ade UTScar UEdEy ﬂﬁdjrdi qad -

HH Ush HFHATT | 37d UG Jel: 3¢ ‘USohoiA Sid GFaledied |
HellealTel Hafd AR T JoUH | el TIGY sfafd AT TULE,
WA g@ReH sfd T uffgila a#Af 1S #acad: $6A 3ieal,
3TFSISTTH, 3TFOITRE, STolold 3TFdord 5Td o faeam: gefed | fAd @ae
TuT: quslichdl’ $fd dedfed | IFdecTel afvsdn: ‘Fiheica $fd #oTied
| AreeRfdee urar: ‘gearatd ‘3 gafed | 56 TR 7 g |
IS Toordy o U 5 gl TRATH: | FRE HEHI0T Al
Eﬁalmﬁmsagmaﬁ?ﬁﬁﬁqmmﬂlémwﬁm
Ul faeafed Icqenie | dieHeeTed Id I 9 Folleidiod | Hel
ASTRIT: APR: §7afd 37d: =g e TR a9 93t B aay |
foreTremear AAABAANT qoufig geae R o Jitaafa (fasrer Torer
AdcaFstaid we ey 8afd | 3T Hee I-UATTR #FRisdla At
SEIRCHINIEIT e G CIEIR I

‘W’mﬁlﬂirﬂ:?



, 3Tscreer
Correct Answer :-

. SICIGRT

OYEg Fus:

3.
, [a¥ %vs 787 =:

Correct Answer :-

.ﬁ'ﬁimmﬂ':

® ociit afsear IrNfAfETeRT TeAE G FIA -

375t I[UT: 9*N G fed W T Hled I SH: Ad T
RIShHARTATTEHTAT T alel gTerfed SHidr dl
del Y01 a@;ﬂonﬁ“daﬂt?i HEoTd gddHEds dT

god YA fawATeyd ar wifed quanfa querdita |

HgUIa: scaey 3AfsfEd -



TRTOE IfScar Ty SHR JaIad -

HH G5h TFHATd | 3d TF ST: 56 ‘Ushold Sid IFaedied |
Helleatlel 1afdl AR T Toue | HFel FUGY sFafad IalsET TTE,
TEST GLEree A 3fd I Tagliel AN (STl Hdcdd: SaH 3ieold,
IFSISIH, 3TFOIRE, STelold oA 31d I fagam: gaied | f&d wae
CRLE ‘W’sﬁﬁwﬁalwmz ‘Fihetca sfad dulfed
| AteRfdeg urem: ‘Sedlatd * 3fd safed | ¢ uee A g |
WWHW:QEWGQW: | HEET FEMOT haellel
Aied | AAGIH 3¢ ST i FIVAT ATH | dNAT eeded faaiiea
uld: Reafed 3caenfa | dfedaeaed 3d o O Faeafed | had
MART: IPR: Hafd 37d: A S RATUR Iq ‘oF Bam: a’ |
fereTemsal AT ATATY qoufAe uRde] w0 o JfeaAfd (fasier Feorel
AdacaFerald =i aled ofafd | 3T HAeq I-UAT HAUSHET AT
aur AAIAEATT FUfd |

‘ Ergefd C 3 &: fawe: g: ?
ar + gafd
@t + 3gfa
@ + e

Correct Answer :-

. @+ 3¢

4



9ollehl Ufecar srefafeseeT ueaTey ﬂﬁdjrd'i I -

375t I[OT: U*W EIUdfed U T Hled I gH: Hd T
W%ﬂﬁgﬁqﬁmamum]ﬁﬁwau
aﬁﬁ%@mﬁmﬁmml

ool Ycd [qoaAeerd ar Wifed quanfel quehdri=il

Freantr gm:lﬁ &fed ?

| 378 aIfsABe o

2. - A
A HIEE LR REG
, GIfsAwe AT qad

Correct Answer :-



gellhl afcar srenfAfesed ueaaed AgdHca I -
G | STRIE Y=ARTAGEN F% Aegie At faqeons |
Tt fastaAldcd facd o= a=ieg Rcaall

ST &9 g fe SFAmem Fcy: wioTe e |
prer: BT fioaeR—aar 8 &Rl Gaaarf&asT: |

for faaAmT Baad ?



TRTdE 9fScar UeAd g YaTd -

ATS: A I va Sgear Rsarfad | AT o $d aI i stesmer
fFsafd oq: are o gud safd | Jar @ UsdaNig: #afd dar
IERTOT 3T | faegred Aoofer: 3redmashr: doufesrfed aAfde: ar
Hd, Hal 3oodellld JEANUT URIA'| &l W: GRES: #Hdfd dal grole
yofdl eclihied Tefd | A WG: 0T T AR 3oostal o HUTA |
faeidel §FUed dTeish Tdcilerd dWl gi¢ 3eord: Hald |

ST UsaGeayid: #afd del U 3U-IET I YRTdad gaid |
Felfdd e Shalded JeTeorardl fFucr facarerd ufsd dred, srRiteafd
| ETTBE HEA T o FAAld | For Fufdadir: safq dqar geore=
faarafa agrered reAfd | afq sy Jee fadsafa afé dws
3GRT Il FUTA | Falldd A0l dfed TATH 9 UoTd dharrded
Feod DN dl | &l ysaideicaavia: #afd der &ilae: car SHEonA
aHCrey Refeh: #afd dea: Geume faeear, TR, T HUAid
Terar#A 3ufeRlfd 13laet 3egefd | aaisa 3ifSicar o qAom g
T Hedl¥H 3Tagfd |

‘ Feled ’ 379 F: gleer: ?

RAcdH
2 A

4.

Correct Answer :-

RAcdH
E RN



eellehl Ufecar srefafeseeT ueaTey ?__l;gd;cdi oA -

G | STRIE UANTAGEN F% Heghg At faqeons |
Toodd AsthaAlded facd de1 fa=ied Rica=

S & G e SR Fog: TToTe] e R |
el BT efeaA=a—aar %’JW TaATIHAET: ||

AT foh Tl ?

eellehl IfScar INfATCTCTT UReTeT AR FIA -

12)

378t U 92N Eradfed Wl T Hied T TH: Ad T
W@Hﬁgﬂﬁﬁﬂmawﬁ?rwau
aﬁwa@mﬁmﬂﬁﬁmﬁ?ml

o e fauaAerd a1 wifed guanfa gt

HAH: IOT: TH: ?



Correct Answer :-

13)

URTBE UiScal Jeaied YGHN FAAd -

AeTsg: A feITEa: v Siefear REfd | AT a8 $d qaf@ sreeqmar
fAsafd aq: ared o gud sdfd | I @ Usdadia: #afd dar
30T STarafd | fdegred doolar: seamuen: daufefcd Afder: &
#d, W&l 3ooddlliel JEANUI URIA| TSI &: GAASIT: #dfd dar Urom]
yafd ealiied Tefd | A TG TE00 T AR 3eagea o ST |
faeT e drcleh falied awr gfd 3eara: safa |

TET UsaGeaud: $afd del Al 3U-IEl T IRTdaH gafd |
el e Haloed Jareorran et faegmedt ufsd dres swepefierafd
| TETeog e I o Feafa | gar faufaasia: safd dar FesreoT
frarafa adenra 3eAfa | It Farfy e faeteafa afé awe
3GRA Iood AT | walfdd ol dfgd A8 T gofd weifaed
$eed Heh dl | &I Ysaiderfadadia: srafd der &rde: scar sEone
ACIEY ferh: safd dsa: Gt facede, AN, T Hadfd
TeTIRA 3uffd 19lae 3egefd | ¥eisd 3ifoical sheaed g gHIon
T HedI¥H 3Tagfd |

areiery e 3eTetafa ?

) g:@?:[

Correct Answer :-

Qlliri:lﬂ_



14)

URTIE ISl URATT YEH FIA -

HTog: MM fEam: va Siegear Rgarfd | Al a8 Fid af sreemr
fFsafd a9: ard 9 gud s@afd | JaT @ Usgavid: #afd dar
3ETOT ITarafd | fAehred Aootar: feamesr: dauferrfed #Afel: AT
$d, Hal 3ooddllel IEANUT URT'| J&T : GAS: #HIld dal 9rdre]
vofd ol Tefd | AG: O 0T T AR oelgaed = HUfd |
faeel @Fue e fachiery AW gfe 3eard: safa |

ST UsacRasiy: afd dal HART 3UIEl T IRTdae gofd |
Faldd e Palfdcd JeToradl R faegrerd ufsd ures siiierafd
| IETEEE HEH AT o Hoald | Far fquidadia: safd dar aesreol
frarafa adierg AT | afy Fafr o= Rawafa af awe
3G oof HUTT | Falldd, A0l dfgd GATH T UoTd dharraed
Food PR a1 | TaT UsAGRITdauid: $afd dar Filde: #caT ST,
AHCIEY fReTh: safd der: et facede] AN T Hadfd
AeTaRHA 3UfeRIfd 13ae 3egefd | aei>a 3ifSicar e gamon gAIon
g HedlvH 3Tagfd |

' IETBeH | 3T ;& ?
| e
_ IEHae:
EIISIIESE

:
[

3.

Correct Answer :-

15) AN
HET AT ATH qdged: ?



17) .
eellehl fScar IrNfATETeTT Uy YA’ A -

G | STEIE UNTAGSON F% Aegig A faqeons |
Toadd sthaldcd facd de1 faied Ricall

ST &9 gfd f& SFAmm Fcg: woTe dA e |
e B fiodAedar BT orT: Gadarfead e

TJoodd Tl 39 FleeRied -



Correct Answer :-

18)

URTOE IfScar Ty ASHH Jaad -

HHA I5h TFHATd | 3d TF ST: 56 ‘UShold 5id dFaredied |
HelleaTel 1afdl AR T Toue | ael FUGY sFafd SalsET TUTE,
TEST GLEeeH 3fd I Ullglie AAN [STel HAdcdd: SaH 3ieold,
IFSNSIeTH, 3HEHRE, oo 3o 5fd T facaia: acfed | fAd Fae
guT: ‘qusiichd’ 3fd Hedied | Wqﬁ?,ﬁ ‘FidhedcH 3fd dulfed
| AterRfdee urem: Sedlatd, ¢ 3fd safed | 5g uee A g |
WWHW:Q&WWW: | HEET FEMOT haelal
Aied | AAGIH 3¢ ST acifd FSIAT ATH | dNAT eReded faailea
ula: faemafea scuenfar | affaeaed a1d o Ot Faaafed | S
MAMIT: IPR: Hafd 3d: ¢ HUd RATUR Iq ‘oF B2m: am |
feredemsal AG=TeaTATY qoufie uRde] w0 o Jfeaafd (fasiel Forel
Acacarerald =i Haled oafd | 3T HAeq I-UATT FAUSHT AT
SEIRGRINIEITEEECRCIEIR

& GATT: 37T FHAET Aled ?



URTSC IfScar UeAET AgHc AT -

Ao A feITeat: va Sefear RIfd | AT a8 $d qafdy sisemmT
fsafd aa: awer 97 gud #9fd | gq @ gsdadiE: eafd der
0T ITarafd | faeared Hoolar: feamsn: daufefed #Afde:
Hd, Hal 3oodolledl IEANUT URIA'| &l H: GRENR: #afd dar grole
yofd eoliehied Tefd | &AG: U w00 T AR Soosts o HUfd |
G Fedeet aTeieh fadlig aw gf¢ eard: safd |

ICT YaGAau: Hafd dal &AMl 39ardET T uRedg Jofd |
Felfdd ¢ Shardaed JaTeoradm fFucr facarerd ufsd gred, spiteafa
| IEToeg e AT o Faafd | a1 fufdada: safa qar e
fearafa adterew sredfa | afe iy &= faeieafa afé aws
3ERIT Tcod MU | FEIdd  STE0l digd TAT T Yafd derraed
Feod PR a1 | TaT sAaeiadasiy: safd dar Fiide: #cdT BTH0mH
ARy feTeh: #afd de: AU faceurs] TAN T werfd
TETaRHA 3ufeRIfd 13a 3eg@efd | &g 3ffeicar Sheaeg JAom gAIon
T HodlYH 3Taeid |

el AT 3<aried ?
, T T

| areusH g

s Taf

Correct Answer :-

EREEL R






U=ide UfScar UsdEy ?_J,&ngrdi 2 -

HFl USh GFHdald | 3d U oial: 3¢ ‘UsholA sfd dearadicd |
HellodTel $afdd ATGRANTR T goue | FHe G safd AT TULE,
WS aeed sid I ufaglisl A IS Hacad: $6H ool
TFSISTAH, TR, STelold] 3Fdord i o fagam: dafed | [d Herel
T quslichdl, 3T Fedfed | IFdeTe qiUsdn: ‘Fihetca $id #oTed
| FrereRfdee urar: gearatd ‘3 gafed | 3¢ TR 7 gereg s |
ISy Teordy T URE: 3¢ SEeldl TATA: | FEETT WEHIOT hafellial
Hﬁa|mﬁmsagmaﬁ?ﬁﬁﬁqmaﬂaﬂ|émmﬁrﬁaﬁw
U fdehdfed 3cqeliel | df¥AwIed ITd T G FATIlod | Hael
ASTRIT: APR: s7afd 37d: g el TR a9 93t B @y |
foreTrelreal AAABAANT qoufAg geae 7R o Jitaafd (fasrer T
Adcarerafa A A #afd | 3167 FAeg TegATT HFsdld At
aur AAAREATT T&Ufd |

AT YA &h: AGATT ?

drady:

HAHL:



eellhl IfScar IrNfATESeTT U AR FIA -

G | STEIE LeTRTHISOT $E Hag‘i?ﬁ AATE TagooT |
ool fAsTeralulcd fdcd de fastied Rical

ST ¥ gl & RATRIT Fcg: IoTe s A |
e 3T NedA=—Iaar %’JW FaATIfaATT: ||

& faeligad ?

? edtet ofsear srifAfitery TeEr AR FIAd -

37oct A[OT: GBY Grodfed WA ° died T gH: Ad T
UUShARTATSEHINT T aled JARITFT Hrdr T
got IO amﬁmﬂﬁmml

ool YHcd auaATeerd a1 Wifed quanfer quepdrt=i

JreIfdd I &: HAN: ?



4. P |

Correct Answer :-



UR=d¢ afScar eaed YA Faad -

ATsg: Aerd eI T g R | AT a8 $d 9afd sisemman
ﬁﬂ'ﬂﬁﬂﬁ areel g3 Wﬂaﬁlzﬁﬁ?ﬁ. UsgauiE:  #afd dar
&7 3TaRATT | ﬁa:mmfr HoolaT: eqIer: dAaufefcd Afle: AT
#d, ¥al 3ooddliel JEANU ORI | TGT H: GAASIT: HAfd dal Urom]
yafd ecliiedr efd | A TG JE0T T AR 3ooses 7 ST |
faeTdeT @ Uest aroteh faelierd awr g 3eoma: safad |

qCT UsaGeAaYd: $afd del AR 3IUadl T IRTdae gafd |
el e Paltoed Jarearrn fEercar faegrer) ufsd ures fefierafd
| IEss HE T o Ferdfd | Fer fderfaadfa: safa qer aesrefo
foarafa adierea redfa | afq @ariy e faeieafa afé dwe
3N Iood FUTT | Falldd IR0 digd TAH T Uofd derraed
Feod PR aT | IaT sATGATIaNId: afd dal FAded: edl STHONH
FHACIE fReTeh: safd dea: ot facedre AN, T Hadfd
HEIRA 3uigerid |dlge 3gaglid | gedsd 3ffolcal Helaed g:nwi g‘:ﬁvrr
 Hodlve 3agid |

‘ Iy * 5ca F9 YeH T gaAfd ?

| faersas

dTHUGH

4. -

Correct Answer :-



uR=ade ufdcar uesTEy ?_J’&Qd:_l’rdi g -

HHC Ush FFHafd | 3d UF SIal: 3¢ ‘Ushold sfd @edrdicd |
HeAlootTel #Tafd ATREATR T Yous | el T eafd HAsTT T,
wfas adeed sfd o ufderfa amfa (So sacad: seH e,
TFSISTIH, JFHRE, STefold 3TFdoi i o faeam: dafod | Fd Herel
ToT: qusliehd], 3T deafed | IFdeAcTe TiosdT: ‘PlhaAc $fd #oTed
| FArereRidee urar: Searatd ‘3T gafed | 5a W 7 geureg s |
ISR Toody T URI: 36 SEelcdl URAM: | FEETT WEHIoT havellal
Gﬁalmﬁmsagmaﬁ?ﬁﬁm‘qmamﬂlmmﬁrﬁw
Ui fdehdied 3cTeliel | di¥AwIed ITd T AT FATlod | Hael
MART: HPR: ST 37d: g HA RN Iq o3t Brm: gy |
fereaemsal AU AATY qouAe uede AU 7 Jfeaard (fasiel Terel
Adcarerald A¢ fasiey safd | 36T #Hee IeuAT emUsdla Ac@ia
dur HeAAEATIg EUfd |

‘W’ﬂ’q‘ﬁ$:aﬂ‘r:?



eellehl gfScar IrNfAfisery UeeTed YA FIIud -

G | STEIE UNETAGSIN F% Tegig AT fageona |
Toordd fAsthraAlded facd de1 fadled Ricall

ST &9 g f& SAmm Fcy: wone g |
e B3 fedAdar BT aET: Gadarfdd e

AY: @l §ld ?

) w3fEgqes” g 3 qeY: 3fEd-
397

1.

, 9IH
HEIH

4.

Correct Answer :-

Nz



Yellhl afScar srenfafcsesd yeaedr AgdHcc FAId -

37SCH AU 4N QUfed W31 T hied T &A: Hd T
TR FARTATSESIAT T alel gATRIfFd Sherar =l
gel TOT QW'& AU gadATdsh dT|

ool YHcd auaeerd a1 Wifed guanter quepdarn=il

mimﬂ:%ga—c‘:ﬁa?

Topic:- Social Science (SSC)

1) Who is the political head of Cabinet secretariat? / HHsd AfuaTeay &1 IeHIa® T S 82

1. Prime Minister / TITTAT

2. Secretary / ARG

3. Cabinet Secretary / #3355l AT
4. Cabinet Minister / hfdeie FIT

Correct Answer :-

« Prime Minister / TITAFT

2) What is also called as the ‘Hare system'? / ‘RTR Ugfa’ B! 3R T HgT ST 82
1. List System / F&@ (foree) gomret

2. Alternative Vote System / dehfedds dic YUl

3. Category Based System / S0ft (heardy) 3meaika gomeir

4, Single Transferable Vote System / Tdhel &EATARONT dlc YoTTelr

Correct Answer :-

« Single Transferable Vote System / Uehel @EATGRUNT dlc JoTel



3) Which is not a part of the National Action Plan on Climate Change? / ﬁ'ﬂ' -k Egc Serarg TRadT w® '{Tg"fq BT YIS BT %"R’IT q'Eﬁ %?
1. National Water Mission /?'I@'q ot fore=

2. National Mission on Pollution Control / ITE1 YquuT fa=or fAere

3. National Mission on Sustainable Habitat / I Tdd gdTavor fAa

4. National Mission for Sustainable Agriculture / ITET RO ?ﬁﬁ IERC

Correct Answer :-

« National Mission on Pollution Control / ITET UeuuT IGEELEENC]

4) Match the following:

1. Kuka Movement A. Lucknow (1936)
2. Mappila Rebellion B. Gujarat (1928)

3. Bardoli Satyagraha C. Kerala (1922)

4. All India Kisan Congress | D. Punjab (1854-72)

ffof@a & fFes F:t

1. FoT e A. TEAF (1936)
2. Afar &g B. =1 (1928)
3. ARErET WARE C. 3T (1922)

4. ¥@e "R fraa F3F | D. 9 (1854-72)

1. 1-A, 2-B, 3-C, 4-D

2.1-D, 2-B, 3-A, 4-C

3.1-D, 2-C, 3-B, 4-A

4.3-D, 2-C, 1-A, 4-B

Correct Answer :-

« 1-D, 2-C, 3-B, 4-A

5) Bairam Khan was given the title of Khan-i-Khanum during the reign of: / Erekciekeal 3'*@7 YRS & a?ﬁ H-U-9-H B Iurfer & Tlé f:
1. Jahangir / STeI9IR

2. Humayun / §TH'Ri

3. Babur / ¥R

4. Akbar / 3hX

Correct Answer :-

« Humayun / gﬂﬁi

6) Active learning starts by posing questions, problems or scenario. This is best represented in: / afera Rreror wsl, wawmns ar uftexa ot UEd EaE k|
SRY BT ¥ SAPT TR DT W+ #RI

1. Problem-based learning / FHEAT-3MUTRA 31fA91aH

2. Technology-based learning / Hiaifaidr-3maia 3ifem
3. Inquiry-based learning / 3eawor-3naTRd 3iferaA

4. Activity-based learning / sifafafa-3maia 3ifeme

Correct Answer :-



« Inquiry-based learning / 3=duor-3MATRA HTAITH

7) ‘Aral Sea’ is one of the largest lakes in the world is completely vanished away due to unscientific human intervention. In which country is Aral sea

;;;Ed%;‘agﬁwﬁqaﬁma@sﬂ?ﬁﬁﬁw%ﬁaﬁmﬁwmm&u%m@mﬁms‘mﬁ%lmwm
?

1. Kazakhstan / ol &EdTeT
2. Estonia / T&EAY
3. Latvia / STTafarar

4. Venezuela / 39 SJUel

Correct Answer :-

« Kazakhstan / ol T

8) is a system introduced by the government where the issue price of food is much lower than the market price to enable the poor to

purchase the subsidized food. / meaﬁﬁwm%,ﬁmﬁmaﬁ Waﬂ@ﬂz%ﬁumﬂﬁw&m
HA 3G TR UeTdt 1 i ger a9k ger & 954 59 gl 2

1. Peoples Distribution System / STeT TIcR0T JoTTeT

2. Public Direct Service / ATdSTieieh YcgeT qaT

3. Public Distribution Scheme / ATdSTiaie fIaROT IIeTalr
4. Public Distribution System / GTdsifelds faROT yomel

Correct Answer :-

« Public Distribution System / TTdeTieicd faaRoT YoTe

9) vote is exercised by the speaker in the house in case of a tie where in equal numbers of members have voted in favour or against a bill
or resolution. / TATGT (2T15) & fRUfa & wafe fadas a1 ywara & ue vd Rty & Waw &) qu= e A vd forar g a9 We # sreaef gy ud &1
IudT fbar e 1

1. Absolute / fARU&T (TedIeyE)
2. Primary / urafies
3. Relative / Tafad
4, Casting / fAuiTares

Correct Answer :-

« Casting / A0

10) Arrange the following events/movements in the correct order of their chronology:
1. Jalianwala bagh massacre

2. Second Civil Disobedience Movement

3. Boycott of Simon Commission

4. Quit India Movement /
Frafafa gemsi/ sieial H 3% BTawd F IR el v H oIafRud o3:
1. SIferaTaTer a1T gTHIS

2. fgdira wfaa srasm g

3. 913U HHIRE &7 afgPR

4. YA BIS! 3figa-

1.2-3-4-1



2.1-2-3-4
3.1-3-4-2
4.1-3-2-4
Correct Answer :-
o 1-3-24

11) The Play ‘Neel-Darpan’ by Din Bandhu Mitra portrays the plight of: / &= a’g{ o grr 3fea Aree 'Tﬂ?l'-?.'d'UT' i | ﬁﬂﬂ fRufa =1 femror
foan an §:

1. Weavers / Al

2. Indigo Planters / ffel ToTeT JTeh

3. Landless Labourers / 3-@@?[ IIT:I@:{T
4. Bengali Artisans / STl BRI

Correct Answer :-

« Indigo Planters / el ST JATeh

12) 1n which year was Chhatrapati Shivaji Maharaj crowned as the Maratha King? / SUfd fR1aTsl 48RS P 5T avf wRTeT Ie & TUH
St UYg=idT ™71 4Y1?

1. 1680
2.1674
3.1630

4. 1664

Correct Answer :-

13) The Government has started with the objective of promoting co-operative marketing of agricultural produce for the benefit of
farmers. / TR & fFum@l & a7 F AT FN 30 F Fearr Buvr Fr agm@m & F 3537 @ # 3T A F

1. National Agricultural Confederation Management Fund of India Ltd. / @A2Tel Tfiheael P AASC B 3HTH 3%'5” fofaes

2. National Agricultural and Commerce Management Federation of India Ltd. / SRIel TifichetRk U dhiad Aaoeic hae 3w si3ar s
3. National Agricultural Cooperative Marketing Federation of India Ltd. / 21Tl Udfiehea’el dI3iTmfea arhicar Hwae 30w i3 fafaes

4, National Agricultural Cooperative Management Federation of India Ltd. / SeTel Uafidhea)el FIRfET A Hew e e fafdes

Correct Answer :-

o National Agricultural Cooperative Marketing Federation of India Ltd. / STl TafidheaRel PATRIET FAHET havera 3w SRar fafdes

14) Right to Education Act came into effecton ___ ./ RMan# sRer sf@faww & A g3
1. 1 April 2010 / 1 31 2010

2.1March 2011 /1 arf 2011

3. 1 February 2012 / 1 BRad 2012

4.1 May 2009 / 1 #{$ 2009

Correct Answer :-

« 1 April 2010 / 1 3 2010



is the difference between the value of a country's imports and exports for a given period. / , [t & o safar &
e fFet qor F e sk T Aeat F fiw @ R g

1. The Balance of Economic growth / e faeprg &1 ﬂ@?ﬂ
2. The Balance of Payment / YTIdT T el
3. The Balance of Trade / TIUR bl Hﬂﬂﬂ

4, The Balance of Exchange rate / fafeera g @r H@FH

Correct Answer :-

« The Balance of Trade / TATAR T HJel

16) Rajukas appointed by king Ashoka performed the following duty? / ISIT M CanT ﬁl’ﬂ:ﬁl’ TIG_!,??T ¥ Pl Fde R
1. Revenue / {oTET

2. Religious / BIIECY

3. Military / ¥

4. Judicial / =aTfAH

Correct Answer :-

« Judicial / =aT S

17) MRTP stands for . | TAARE 1 ﬁﬁﬁ' wm_#l

1. Monopoly & Restrictive Trade Prohibition Act / HIATdIel g IR &g Mifefae= vae
2. Monopoly & Restrictive Trade Pact / FlaYell U3 ¥RciFea ¢ dae

3. Monopoly & Restrictive Trade Practices Act / AlAaTel U5 Yefdea ¢z dfFecaq vae

4, Monopoly & Restrictive Trade Prices / FlAaell U5 Y¥ciFea &5 ursaid

Correct Answer :-

« Monopoly & Restrictive Trade Practices Act/ AlATaTel U5 ¥R¢ided ¢ deq@ tae

18) At which places are the cave paintings found? / 3T & (@) e Tae | e I §2
1. All the above / 3URRH TS

2. Bhimbetka only / Shdd HHAdcHT

3. Badami only / ddl argreir

4. Ajanta only / Hhdel TSl

Correct Answer :-

« All the above / 3T T

19) Ashtapradhan was the official council of: / SEYYUTT FHSHT IMAFING IRwE 4T
1. Mughals / W Eal

2. Marathas / FRTST3AT &HT

3. Afghans / 31Tl &l

4. Rajputs / TI\_:I'%IT Eal

Correct Answer :-

« Marathas / FRTSI3T T



20) In which among the following years, did India conduct series of nuclear tests? / FeRRTAI T af &, sRa ¥ UIATT gdretort
& H@e Fq AJAIAT F2

1. 1998
2.1997
3.1999
4. 1995

Correct Answer :-

« 1998

21) Who has the monopoly in issuing currency notes in India? / HITT ) Hel (Ew'lTﬁ') Al I WA F FueT wNER %”
1. Commercial Banks / aTfoifsaes d@

2. NABARD / ATdTS

3. Ministry of Finance / fa ity

4. Reserve Bank of India / TR Red da

Correct Answer :-

« Reserve Bank of India / TR Red &

22) Who was the President of the Constituent Assembly? / GfatT THT & 3regaT HiaT A2
1. K.M.Munshi / &.T&. it

2. H.C.Mookerjee / TT. 4. Bi'@Gﬁ'

3. Dr. Rajendra Prasad / 8f. Jroig UG

4. Dr. Ambedkar / 31, 3FISHT

Correct Answer :-

« Dr. Rajendra Prasad / 3. Toig UHTG

23) Who gave the famous slogan “Garibi Hatao”? / "9{iY gerait" &1 yflqy arr fFa=r feam?
1. Rajiv Gandhi / Trsfig amedy

2. Jayaprakash Narayan / STIUhIRA ARTI0T

3. Indira Gandhi / 3T amiefy

4.V.P. Singh /@Y. T &g

Correct Answer :-

« Indira Gandhi / $f&1 el

24) Who is the proponent of social recitation method? / WIHIGE WA U6 Ggufd &1 yEads HisT &
1. Max Weber / #9d JeR

2. Karl Popper / @l UftR

3. Auguste Comte / 3ET PlFC

4. Adam Wesley / USH Gracl



Correct Answer :-

+ Adam Wesley / USH el

25) Who was well known as Lokhitwadi? / feg afFfaad! & & & & S ar?
1. Gopal Hari Deshmukh / a00TeT &8 SRr@

2. Jyotibha Phule / ST Fet

3. Ishwar Chand Vidyasagar / $#R dg faamamR

4.M.G. Ranade / Td. Sfl. IS

Correct Answer :-

« Gopal Hari Deshmukh / Jidrel &1 é{?l’ﬁ'@'

26) A teacher gets immediate feedback by conducting J T e F IS @RI derel ‘ilﬁ"zl,ﬁ uIed FIT §
1. programmed evaluation / m EFLFJ—'I'ITIFI'

2. summative evaluation / JRTcHD EFLFEIW

3. diagnostic evaluation / FGlieids Hedichel

4, formative evaluation / fRTOTCHS FFLFCIW

Correct Answer :-

« formative evaluation / fHATONCHS Hedrdhed

27) According to the Constitution, India is best described as a ./ G & AR, HR F gEH TS F w9 & afvia fFar
I gl

1. Union of States / Il &l &Y
2. Unitary State / UhlcHb I
3. Sovereign state / Wﬂﬁf Qi)
4. Federation / a2

Correct Answer :-

« Union of States / a1 &I T
28) India achieved self-sufficiency in food grains by the year ./ HRA & af d% gigdles # srcafAsRar gia $
1. 1956

2. 1986

3. 1996

4.1976

Correct Answer :-

« 1976
29) has replaced the Planning Commission of India. / A AR QST AT FT T o T §
1. Antyodaya Anna Yojana / 3caied 3eel JTStell

2. Yojana Upay / ATl 34T



3. Yojana Aayog / TSl 3T
4. NITI Aayog / a3t

Correct Answer :-

« NITI Aayog / Fifa 3T

30) Identifying the learning difficulties or weaknesses of pupils for instruction is known as: / & & fQw faa:mﬁﬁ # e Faeh
Hfsamsal a1 FANRGT F1 ggaEFT & T # = 14 B

1. Unit test / 3‘@? 16707

2. Diagnostic test / SgIfelds URIETOT

3. Prognostic test / UTfaeriaed geor
4. Achievement test / SUclTed] UII&TOT

Correct Answer :-

« Diagnostic test / SGITeieh TI&TOT

31) The major objective of dramatization in the teaching of social science is: / WIHISI® AT & RA&Tor F ACHT TG F1 ki)
35T e e g &

1. Comprehension / aT&T

2. Knowledge / <1

3. Research / 3-1%??‘017-!'

4. Application / 3TTdeel

Correct Answer :-

« Comprehension / &<

32) The ‘Panchsheel’ agreement was signed between ./ ‘quefler ¥osiid W & Ay grarr v av)
1. China and Tibet / ¥ 31 Qg

2. Pakistan and China / UTRFEdTa 3R @
3. India and Pakistan / ¥R 3R urfhedta
4. India and China / Ra 3 @

Correct Answer :-

« India and China / ARa 3R &=

33) The age of the earth according to majority opinion is: /EI§'F|?|' F AR, ‘{%?ﬁ' #r g %:
1. 40-50 Billion Years / 40-50 fafera aef

2. 4-5 Billion Years / 4-5 faforaer a¥

3. 4-5 Million Years / 4-5 faforaer ay

4. 1-2 Billion Years / 1-2 fafore af

Correct Answer :-

« 4-5 Billion Years / 4-5 faforaar a¥



The strategy that enhances student knowledge and enables them to acquire collaboration, communication and independent learning skills and
prepare for lifelong learning is: / 9§ TN S B9 AT AN Foret § 3R 37 g, TR 3 Faaa 0w shere gog w7 3R
Ireias sfteE & v Fad Jard §:

1. Written assignment method / forf@a H’«Ha?tam ggfd
2. Project method / URANST Tgfa

3. Practical method / UMD Ugid

4. Demonstration method / JHATONGOT Ugfd

Correct Answer :-

« Project method / TREANSTAT Ugfd

35) The advantage of discussion method is: / a7 fafr &1 e m9r (A

1. Emphasis on learning instead of teaching / fA&TOT & T AfAITH W IR
2. Emphasis on learning with lecturing / TITEIA & ATY FTYIMH T IR

3. Emphasis on learning with technology / WA & amy 31fQerar W AR
4, Emphasis on learning with activity / FARAT & Y AATH W IR
Correct Answer :-

« Emphasis on learning instead of teaching / TY&TOT & T A W IR

36) The only session of the Indian National Congress which was presided by Mahatma Gandhi was held at : / STR?ﬁ'Q'TWQITI' FTAT FT THATT
7 forwehy sregatar AgreAT el ¥ Hr ofY, gl Ao frar = am

1. Allahabad / SelTeTdlq
2. Belgaum / STelaTd
3. Karachi / &Xrd

4. Surat / JId
Correct Answer :-

« Belgaum / ST

37) The qualitative judgment of value and purpose is: / qeT sk 3GeRYT FT IOTTcHS oty gar &
1. Evaluation / Hgdihel

2. Marking / 37ehel

3. Examination / GT&ToT

4. Grading / #ofieioT

Correct Answer :-

« Evaluation / W

38) NSE stands for ./ wews # RAEqa w9 B
1. National Support Establishment / IRl HUIC TR TSIRIHC

2. National Statistical Economy / A%TTel Fefef&edel sehaiall

3. National Statistical Enumeration / 22Tl ¥efefecehel SefgRere

4. National Stock Exchange / JTeTel TETdh TaRadoT



Correct Answer :-

« National Stock Exchange / Aol Tl TdHTl

39) Which is not a characteristic of formative evaluation? / @i ' AAITAS H‘\?d'ﬁw_rl' #r T RFAdvar T8 &2

1. It is an integral part of learning process. / IE 3TAIH AT YRRAT H Th Hi¥ead 3T ¥

2. It is generally a teacher made test. / T 3 dR W Tk ReTwd grr AFAT v oliew &)

3. It pinpoints difficulties being faced by a weak learner. / IJ& Tdh HAeR fAGTAT & TS 3 arell wfdaArgar wt 3T Far ¥

4. It does not help in the modification of instructional strategies / I& 3-1«“-@'? cHG TOANTIAT & MU H A a‘{-’r hId %I

Correct Answer :-
« It does not help in the modification of instructional strategies / I& 3-1«“-@'? cHS TOENTIAT & MU H Fee Hﬁ hId %I
40) Which is not a correct statement? / FATARAT H ¥ FIT AT TF WE FUT LT &7

1. Battle of Buxar was fought between British East India Company and Mir Jafar. / IR 6 o8 fafeer v g2ar oo 3k R s &
dr od g o

2. The third Anglo Mysore War was fought between British and Tipu Sultan. / TERT Tadl 3\-‘?{{' 0y Sfeer 3 aTL Gedld & &g &3 I
ar|

3. Partition of Bengal took place in 1905. / S9TreT @l faeei 1905 3 g3TI
4. Queen Victoria took the title of Empress of India in 1876. / FeRT AFaiRar 1876 & #IRT &1 TraT= & &g wa e

Correct Answer :-

« Battle of Buxar was fought between British East India Company and Mir Jafar. / S&aX T 18 ey $Te sf3ar suat 3R 3R S &
dra gt ar$ o

41) Which Article in the Constitution grants special status to Jammu & Kashmir?/ a4t & sl ar HeDG FFH 3R wer A Ry
Tt &ar §?

1. 369
2.368
3.370
4,353

Correct Answer :-

- 370

42) Which of the following types of method gives priority to the individuality of the student? / Fafaf@a # A FE R f (A o= &
FaFawar H wa@Far ad F?

1. Learner centered / frameff Hfga
2. Teacher centered / 18T Shigd
3. Lecture centered / SATEATA higd
4. Subject centered / T Higd

Correct Answer :-

« Learner centered / fr&meff hfed



Which of the following is not one of the conceptual pillars of Human Development? / faFafaf@d A ¥ ¥ AT Qe F dFTRE waut
# ¥ v ad

1. Sustainability / TE2RAT

2. Productivity / 3cUTigehdr

3. Equality / HHTAAT

4. Empowerment / FRITcherioT

Correct Answer :-

« Equality / SATAAT

44) Which of the following learning method is most effective in social science learning? / RFIfaf@a & ¥ Fia A sftew A Fo=w
R faer # gad v @2

1. Learning by reading / &« §RT 3791

2. Learning by rote memorization / H&¥Y TAOT gRT A
3. Learning by doing / mﬁﬁ?ﬁ 31T

4. Learning by hearing / #@0T §RT 349

Correct Answer :-

» Learning by doing / ﬁmﬁﬁ?ﬁ 31T

45) Which of the Indus Valley Civilization cities had a dock? / Y] &t Fe=rar are e ereY # sfar am
1. Harappa / &3l

2. Lothal / oli¥el

3. Alamgirpur / mWﬂTgT
4. Kalibangan / Telias

Correct Answer :-
« Lothal / eeret

46) Which among the following is a critique of society and culture drawing from knowledge across social science and humanities disciplines? /

Ry & ¥ a9, swes fae 3R AafRd Rvat § 79 @i sae AR FEpfy fr @ S ¥
1. Marxist theory / HTRIareT Rgia

2. Class theory / a3 f&gia

3. Critical theory / 3TeldellcAd G

4. Revolutionary theory / gRadeadr Rgia

Correct Answer :-

« Critical theory / 3TTelrdaTcad fAgid

47) Which country has presidential system and executive powers are in the hands of the President? / g g & TI'Q}Iﬁ' gorrelt ¥ 3k
FRFH afFaar weeufa & gral & @ &2

1. UK/IH

2. France / T8

3. USA / Juaw



4. Canada / &hTST

Correct Answer :-

48) A child who is an extreme introvert may be reluctant to express himself in an overt manner. Which technique can be used to study his/her
personality traits? /

TF TTA S HeAS e ¥, 9% GE A o alF § AT W A HATeE @ ThaT §1 36 cATFded waivil F AT FA
F T FW dF=lled FT TA9T FAT ST FHaT &2

1. Projective technique / GRANST ddhetten
2. Dramatization / SATCHIT FUTAR

3. Demonstration / JHATOTRIOT

4.Role play / el ol

Correct Answer :-

« Projective technique / TRIANTIAT dheirh

49) Which of the following is definitely achievable in a span of one period? / Fafaf@a & ¥ la ARTT T ¥ ve 3™ F iawer § ycg g AT 2
1. Ideal / 3TGel

2. Aimless / fa%eRT

3. Objectives / 32T

4, Oversight / fadieToT

Correct Answer :-

« Objectives / 32T

50) Who was not the leader directly involved with Khilafat movement (1919-1924)? / & ¥ &l ¥ AdT RGE EAA(1919-
1924) § cgel T & ¢ I3 47

1. Mohammad Iqbal / F'EFHE SehaTel

2. Mohammad Ali / #lgFAG 37ell

3. Pir Ghulam Mujaddid Sarhandi / UR J[eeT Fafee e
4. Maulana Shaukat Ali / FeTAT e 376l

Correct Answer :-

« Mohammad Igbal / HIEFHE SehdTcel

51) Who wrote the ancient Indian Play Malvikagnimitram which referred to the defeat of Yavanas on the bank of River Sindhu in the hands of
Vasumitra? / Wil AR Aesd A@fas@ataE s e o, G By 7l & ac w agT & grf g9 # g8 71 se0@
q1?

1. Asvaghosha / 34TEIY
2. Harsha / &§

3. Sudraka / [geh

4. Kalidasa / TG

Correct Answer :-

. Kalidasa / @Teilgra



52) Due to which of the following winds, Central Europe enjoys a warmer climate? / Ffaf@a & ¥ 5 ga1 & SROT, ALY q;{’rcr uF I
ATy FT HE 30T §?

1. Bergwind / S9Tqael
2. Zonda / S8
3. Foehn / thel

4. Chinook / e[&

Correct Answer :-

« Foehn / %l

53) What part of a tidal cycle has minimal current? / SaRYT I% & fry omr & AdH URT e &2
1. None ofthese/ﬁﬁ k) aﬁé’ e

2. Flood tide / SaRI a1

3. Ebb tide / $TeT

4. Slack tide / & (Feleh) URT

Correct Answer :-

« Slack tide / & (Feldh) URT

54) Which of the following is not a high cloud? / AFafaf@d & ¥ sla-ar 3= g (2F F133) A 2
1. Stratus / EIY I (¥¢TH)

2. Cirrostratus / G811 T gl (m)

3. Cirrus / U&TIH dreel (o)

4, Cirrocumulus / G&TT3 HUTET digel (RRTeFggTer)

Correct Answer :-

« Stratus / T dIGd (F¢ed)

55) Which of the following is not a temperate Grassland or Shrub-Land Biome? / Feafaf@a & ¥ Fia gaefasor awraa ar m
Saara (el s/ TE &2

1. Sahara / HgRIT
2. Veld/ de8

3. Prairie / URY
4. Steppe / TG

Correct Answer :-

. Veld/des

56) ‘Al Aziziyah’, the hottest place on earth is located in which country? / ‘I’aff W JEN T T AT o R u F Rua %‘?
1. Libya / eiferam

2. Sudan / gII
3. Congo / P9

4. Nigeria / ATSSNTAT



Correct Answer :-

« Libya / ohfa=r

57) The Treaty of Bassein was signed by on December 31, 1802 with the British. / 31 f§W«¥, 1802 %Y aanT e F Ty IR
1 §@f W gEaer B T an

1. Yeshwantrao Holkar / JRIGaRTd @W
2. Daulatrao Shinde / GITaRTa fRIG

3. Ghasiram Kothwal / ETIRTST Bidarel
4. Bajirao II / areinra 11

Correct Answer :-

« Bajirao I/ arsiRma 11

58) Rama’s Bridge or Rama Setu is located in which among the following straits? / J/H T ﬂ?_l_" a1 A ﬂ?_[ Fefafaa & ¥ st )
Rua &2

1. Cook Strait / & Bt @G

2. Bering Strait / ST HT @S
3. Palk Strait / UTch STISHETHET
4. Strait of Tebrau / TI& P WET
Correct Answer :-

« Palk Strait / UTch STASHTHACT

59) E-learning in social science helps the students for: / mmﬁaﬁﬁé-aﬁnmﬁﬁﬁm T Hgg FRaT 8:
1. Simulated learning / HTIA fAITH

2. Rote learning / HEEYT ATAIH

3. Learning by doing / ﬁFJI?lT*I?F 31T

4. Anytime and anywhere learning / &7 8 3R wEF ofr et

Correct Answer :-

« Anytime and anywhere learning / HT 8 3R FE o 1Aara

60) Where is Ring of Fire located? / &1 e BrR ﬁﬂaﬁ %?

1. Along the coast of Antarctic Sea / 3CThfed PR & de & a1y

2. Along the coast of Atlantic Ocean / 3TelTed FATEWR & dc & AU
3. Along the coast of Indian Ocean / &g ATEIR & de & 1Y

4. Along the coast of Pacific Ocean / UITd FERIWR & de & TATJ
Correct Answer :-

« Along the coast of Pacific Ocean / UIid FERIWR & de & TATJ



